W Reading and Use of English Part 1

For questions 1-8, read the text below and decide which answer (A, B, C or D) best fits each gap. There is
an example at the beginning (0).

Mark your answers on the separate answer sheet.

Example:

0 A beneath B lower C minus D less

Sk aB 6§
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Mars on Earth

The centre of Antarctica, where winter temperatures frequently fall to (0) .................. 80 degrees centigrade and for four
months each year there is (1) ..o darkness 24 hours a day, is one of the most extreme environments on Earth. It
is also by (2) ... the most similar place to the surface of Mars, which is why @ (3) ..........ccc...... of thirteen scientists
from the European Space Agency have spent nine months at a base there.

They have been studying the physical and psychological (4) ... on humans of living in extreme conditions, in order
to obtain a better understanding of the difficulties humans will (5) ................ during the long flight to Mars and their stay
there. Of course, space is (6) R Antarctica in that astronauts have to adapt to weightlessness, but the base is
3,200 metres above sea (7) ... making it difficult to breathe there — as it can be on space flights. They have also,
like space travellers, experienced strong feelings of being |- | S — off from civilisation.
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regular
far
crew
results
oppose
unlike
height

broken
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constant
much
cast
effects
dare
contrary
level

cut

C repeated
C large

C gang

C issues

C challenge
C unfamiliar
C depth

C kept
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maintained
long

team

risks

face
different
scale

taken
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m Reading and Use of English Part2 .

For questions 9-16, read the text below and think of the word which best fits each gap. Use only one word
in each gap. There is an example at the beginning (0).

example: [0] [S[IIN[c[e[ TT[TTTTITIT[]]

Marathon in the mountains

The Ultra-Trail of Mont Blanc is an extreme marathon held annually (0) ..................... 2003 in the mountains of France,
ltaly and Switzerland. Widely regarded (9) ............c...... one of the toughest races in the world, the Ultra-Trail takes place
in August, (10) .....ccummnenes temperatures frequently range from over 30°C at the lowest points of the course, to well

{ [ ) . freezing at the highest.

An Olympic marathon is 42.5 kilometres long, but (12) ................... one is over 160 kilometres in length and includes nine
mountain peaks. That involves climbing a total of approximately 9,500 metres, (13) ..........cc.... is considerably higher than
Everest. In (14) .......ccccccvvvvueues of, or perhaps because of this, the annual event has become increasingly popular with runners,
10.(18) <o isais an extent that the numbers have had to be limited to 2300. Only about half of these, (16) ..................
average, are likely to finish the course, in times that typically vary from 20 hours to over 45.
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m Reading and Use of English Part 3

For questions 17-24, read the text below. Use the word given in capitals at the end of some of the lines to
form a word that fits in the gap in the same line. There is an example at the beginning (0).

Write your answers IN CAPITAL LETTERS on the separate answer sheet.

Example:@ IRIE[A[s[o[n[a[B[L]E] | | | W=

Jobs in the future

In twenty years’ time, which jobs will people still be doing, and which is it

(1) [ to assume will have gone forever? Today’s young people should REASON
give that question careful (17) ..., before choosing a career. Clearly CONSIDER
there will continue to be a need for staff in (18) ... professions such as EXIST
medicine that involve caring for others, and also for people able to persuade, like

i () e and lawyers. POLITICS
There will of course be no (20) ...........cccoouevuvennas of jobs in science and technology, SHORT
particularly for individuals able to (21) ...t in newer fields such as SPECIAL
biotechnology and microbiology.

On the other hand, the already rapid (22) .................cccccoooen of jobs to robots will LOSE
speed up even further, as they replace workers not only in manufacturing but

also in the (23) ..o industry. And as robots learn how to stack shelves, CONSTRUCT
take over at check-outs or send us our online shopping, it won't be long before

most supermarket jobs have (24) ..., , too. APPEAR
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ILEX)P Reading and Use of English  Part 4 -

For questions 25-30, complete the second sentence so that it has a similar meaning to the first sentence,
using the word given. Do not change the word given. You must use between two and five words,
including the word given. Here is an example (0).

Example:

0 My little brother went to see the big match by himself.
OWN
My little brother went ... to see the big match.

The gap can be filled by the words ‘on his own’ so you write:

Example: | O ON HIS OWN

Write only the missing words IN CAPITAL LETTERS on the separate answer sheet.

25 Amanda woke up late because she’d forgotten to set her alarm.
HAVE

If Amanda hadn't forgotten to set her alarm she ..................... late.

26 This Internet browser works far better than the others.
NEARLY

The other Internet browsers don’t ..........ccvvvveninnnn. this one.

27 ‘Can | borrow your phone for a minute, Jack?’ asked Emma.
WHETHER

Emmaaskeddacle oo voniiainiaaniss phone.

28 Raymond has so much skill as an artist that his drawings look like photographs.

SUCH
FAVINIONE S . v voc S S sios pasmenasn artist that his drawings look like photographs.

29 | wish | hadn't stayed up so late last night.

BED
LSHOUI o cosavsatavansvaisssassasin last night.

30 Our departure was delayed because another flight arrived late.
CAUSED

The delay to our departure ..........cccccuuueenn. arrival of another flight.
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m Reading and Use of English Part 5

You are going to read an extract from a novel. For questions 31-36, choose
the answer (A, B, C or D) which you think fits best according to the text.

" Night flight S5 "

The flight is busy and the last few passengers to board

are searching for places to stow their hand luggage. The
Asian woman in the seat next to me is in her late twenties,
probably travelling on business. | am wondering if | should
talk to her when the man in the window seat shows up and
we have to let him in. She settles back in the middle seat.
When | try to strap myself back in | find she’s picked up the
buckle of my belt by accident and we look at each other
and laugh.

‘What have you been doing in Bangalore?’ | ask.

‘My office is there. It's where I'm based.’ | notice that
she has a North American accent. She tells me she works
for a multinational company that makes clothing and that
she is on her way to Thailand. She has to visit a couple
of factories and meet with some other people from the
company. She’s also trying to complete her PhD thesis,
which is on a laptop she has under the seat in front of her.
While she's talking she puts her passport away in her bag
and | see she's Canadian.

She asks me what | do and | tell her. Then | ask her
some more about her job and she tells me about that.
By this time we are in the air and climbing towards our
cruising altitude. The cabin is quiet, lights still dimmed,
just the gentle sound of the air conditioning and the
murmur of conversations. The flight to Singapore is three
and a half hours. | can't decide whether to attempt sleep. It
is nearly midnight and it hardly seems worth it. The man in
the window seat has put on eye-shades and has an inflated
pillow around his neck. He has slipped down in the seat
with his head lolling to one side, his blanket pulled up to
his chest. The woman shows no inclination to sleep so | ask
her where she grew up.
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She tells me her father
is a medical doctor and
that he went to Canada
before she was born.
They spent a few years in
Montreal but most of the time she lived in Saskatchewan.
‘It was OK,’ she says. ‘There are things happening there, it's
not as dull as you might think. She tells me sometimes in
the winter it would get down to minus sixty.

'Really it was minus thirty,” she says. ‘But the wind
chill factor made it feel like minus sixty. | remember them
saying on the weather forecast “human flesh will freeze in
1.4 seconds.” Things like that.

‘I've never been anywhere that cold,’ | say.

‘Somehow it didn‘t feel that bad,’ she says. ‘It was like
a dry cold. When the sun was shining it didn’t seem that
cold. It makes your skin kind of tingle. We used to play out
in it. You can get seriously cold and not realise it. When
you're back indoors your face and hands ache as
the blood comes back. | suppose that is how polar line
explorers end up losing toes. They don’t realise how
cold they are.

‘| suppose so, | say. There’s a pause in the conversation
and | wonder what to say next.

| guess you get the other extreme living in India.’

‘Bangalore is fine,’ she says, ‘though we need rain. The
drought is very bad in south India right now.'

The woman asks me how | got into my present job and
| tell her a bit about my life. At least | tell her the story
which over time has fashioned itself into what | call my life.
It’s not that I'm being deliberately secretive or deceitful. |
just don’t know how to talk about what really happened.
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What do we find out about the woman in the first paragraph?

A
B
C

D

She is annoyed at having to change seats with another passenger.
She finds a mistake she makes amusing.

She wants to get on with her work during the flight.

She has difficulty finding room for items she brought on board.

What does the woman say at the beginning of the conversation?

A
B
C

D

She has Canadian nationality.
She usually works in Thailand.
She is currently both studying and working.

She is going to work for a different employer.

Why does the writer stay awake throughout the flight?

A
B
C
D

There is a lot of mechanical noise on the plane.
Nobody else on board seems to want to sleep.
Some of the passengers are talking loudly.

He would not be able to sleep very long.

The woman talks about temperatures in Canada to show that

A

B
C
D

it could sometimes be extremely cold in Montreal.

India is 2 more pleasant country to live in than Canada.
the place where she grew up could be interesting.

in Saskatchewan children had to stay at home all winter.

What does ‘that’ refer to in line 527

A
B
C
D

failing to notice how cold some parts of the body really are
wearing clothes that do not cover the skin in very cold weather
playing games outside in extremely low temperatures

going into a warm place straight from somewhere much colder

The writer mentions the weather in India because

A

B
C
D

he realises the woman wants to change the subject.

he wants to keep the conversation going.

he finds the weather an interesting topic to discuss.

he had wanted to ask the woman about it while she was talking.
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